	Univariate logistic regression

	
	Adverse
AUC (95% CI)
	Death
AUC (95% CI)
	Combined
AUC (95% CI)

	Rutherford + DWI
	0.71(0.58-0.82)
	0.97(0.92-0.99)
	0.89(0.81-0.94)

	Rutherford – DWI
	0.67(0.54-0.78)
	0.84(0.72-0.92)
	0.80(0.70-0.88)

	
	
	
	

	Multiple logistic regression

	
	Adverse
AUC (95% CI)
	Death
AUC (95% CI)
	Combined
AUC (95% CI)

	Model
	0.60(0.47-0.72)
	0.82(0.70-0.90)
	0.82(0.73-0.89)

	Rutherford + DWI
	0.78(0.67-0.86)
	0.98(0.95-0.99)
	0.94(0.87-0.97)

	Rutherford – DWI
	0.72(0.60-0.82)
	0.91(0.81-0.96)
	0.89(0.82-0.94)

	Parameters used in multiple logistisc regression: birthweight,  pH at admission,  Thompson score,  any seizures during admission,  and MRI score
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